N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position | N of simulated tracks vs z vert position

0 %) n
@ Qo e o
o L S S 2
g E 5
g A g
= 17} =
Q c Q
o 8 10 s
= S E S
N
Y = £ '!'L;"::
L p—— —1 Wit
b == BRI
5 : : 3 I
o 24 o [
1l 1les e 1_— - pe
0.95 ; ; ; 0.95 ; ; ; 005k ; ; ; ; ;
10—2 10—1 1 10 102 10—2 10—1 1 10 102 =30 -20 -10 0 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)
| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
12 %] 2
o (3] a
= [3} =
kel b= hel
e 8 2
é 2 10°E é
2] X - 2]
c (3] c
8 g 8
o) = o]
@ a4
10E
1
il i b
o suv I [ P I 1 I A o Luo o*-W"'""""""""“"""'T""
5 | 5 5 | ;
o [ : : " : : o [ : f f f i o I :
=¥ T T ! i RS R e : g : : e 1 : : : - frene
0.05L i 1 A f 1 0.05L 1 1 1 1 1 1 i 0.9500 1 1 1 1 1
-30 -20 -10 0 10 20 30 -20 -15-10 -5 0 5 10 15 20 =10 -5 0 5 10 15 20

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


